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1.A contractor installs the last product and receives payment. The project manager discovers flaws
in the installation and requests that the contractor complete the repairs at no cost. Which of the
following arguments should the contractor use to refuse the project manager’ s request?
A.contractual closure was approved

B.installation was improperly performed by the project team

C.contractor’ s quality policy does not allow for this situation

D.financial closure was approved
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2.A business analyst collects requirements for a new project. Stakeholders are from different
departments and have various requirements. The project budget is limited and can only deliver half
of the requirements

A.Facilitated workshops

B.Focus groups

C.Group decision making techniques

D.Group creativity techniques
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3.After a quality assurance audit, a project manager receives a formal change request proposing a
modification to a component drawing. which of the following plans should the project manager
review first?

A.Project management plan

B.Change management plan

C.Configuration management plan

D.Quality management plan
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4.To increase trust and improve interpersonal relationships, the project manager of virtual team
schedules an off-site building activity. However, due to a scheduling conflict, a key team
membercannot attend the activity.To avoid this conflict, what should the project manager have
reviewed?

A.Project staff assignment

B.Resource calendar

C.Project schedule

D.Project organization chart

4. NPEEBEEMSENRK R, — RN ITE £ 82 T — xRS B 50E
o R, HTHEMER, —ZRKRBENRAARSINGGS) . AR AR, TH 2N
CLAH B 2452

ATH N A L%

B. AR H T

CIH



Fr/) PMP (FELASHIEE S18 (2EER ) offcn hzpmp
D.UIHHARK

5.A project manager negotiates contract terms with an external vendor that will provide additional
resources to complete a critical project task. To minimize project risk, what type of contract should
the project manager select?

A.Cost-reimbursable

B.Firm-fixed-price

C.Fixed-price-incentive-fee

D.Time and material
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6.A project team completes a project to transition from an old database to a new database.
Regarding lessons learned, what should the project manager do next?

A.Present to the sponsor at the stakeholder closeout meeting

B.Present to the client to ensure agreement

C.Ensure information is stored in a project file

D.Ensure information is stored in a corporate knowledge base
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7.During the project execution phase, a project manager learns that the customer’ s organization
could be acquired by another organization. What should the project manager do next?

A. Revisit the project charter

B.Perform a risk reassessment

C.Ask for the project sponsor’ s guidance

D.Discuss the issue with stakeholders
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8.How should the effectiveness of a project’ s quality control activities be determined?
A. Evaluate the quality assurance plan against market benchmarks

B.Implement a quality audit strategy

C.Conduct a quality audit of the deliverables

D.Evaluate the cost of quality
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9.At a project kick-off meeting, the chief executive officer(CEO) requests changes that will impact
the project scope. How should the project manager respond?

A.Advise the ceo that the project team will estimate the impact of the change request

B.Inform the CEO that the scope cannot implement the change because the project scope is
finalized

C.Accept the changes according to CEO’ s request

D.Consider the CEQ’ s change during the project execution phase-
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10.Which task has the correct assignment in the RACI chart?
ATask 1
B.Task 2
C.Task 3
D.Task 4
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11.At the end test part 4, the project manager reviews a control chart. What does the chart
indicate?

A.Quality is in line with expectations

B.Quality expectations are not achievable

C.Quality has not improved since the beginning of the tests
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D.Quality is not in line with expectations
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12.During a project’ s implementation, several providers participate in the project. The project
manager meets with stakeholders, external consultants, and subject matter experts to define the
project scope.The project manager should include which items as part of the project scope
statement?

A.Requirements traceability matrix, risk register, stakeholder register, activity list

B.Constraints, schedule, assumptions and work breakdown structure

C.Scope description, acceptance criteria, constraints and deliverable

D. Technical reference, exceptions, deliverable and scope baseline
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13.A project team installs a new operating system. Before implementation, the team tests the
system on a smaller, isolated network and discovers some issues. After finding solutions to these
issues, the team still encounters implementation issues. However, the number and severity of issues
are greatly reduced Which of the following does the project team use?

ATransferring risk

B.Mitigating risk

C.Accepting risk

D.Avoiding risk
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14.A new project manager takes over a project in the execution phase. The project manager learns
that the customer did not provide the correct product requirements The project manager should
apply activities from which of the following plans?

A.Scope management plan

B.Change management plan

C.Configuration management plan

D.Requirements management plan
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15.A bicycle company releases a new line of baskets with a five-year warranty. The material
withstands extreme weather conditions. The product is well received by customers and is
considered top of the line the design is basic with no additional featuresWhich of the following
describes this product?

A. High grade, high quality

B.Low grade, low quality

C.High grade, low quality

D.Low grade, high quality
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16.A project contains several stakeholders, 50 team members, a number of job sites, and
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stakeholders and project team member may review a lot of information and documents anytime

during the project period, what communication method the project manager should use to solve
the information requirement of project?

A.Interactive communication

B.Push communication

C.Pull communication

D.Send-receive
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17.A project manager wants to develop a resource breakdown structure(RBS) for a new project. A
team member states that the team already developed an RBS for similar, existing project. What
should the project manager do next?

A.Compare the existing project’ s RBS to the organization’ s standard template

B. Use the existing project’ s RBS to save time

C.Create a new RBS using the organization’ s standard template

D.Use the applicable categories of the existing project’” s RBS
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18.A project manager discovers that a key team member will leave the organization in two weeks.
The team member works on tasks that are on the critical path.What should the project manager

do first?

A.Evaluate the impact of losing this member
B.Verify if can change the scope
C.Update work breakdown structure

D.Change the project team member
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19.A company’ s president asks a project manager to implement a new financial system. What
technique should the project manager use to obtain a high-level project scope?

A. Perform a make-or-buy analysis

B.Meet with the director of information technology to conduct an analysis

C.Define requirement with the company’ s finance experts and business owners

D. Collect requirements from financial application vendors
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20.After negotiation with resource manager, project manager develops the project management
plan. In the kick off meeting, resource manager says the resource only can be available in the late
state of project period, what should the project manager do next?

A.Add the resource risk into risk register

B.Record the change, review and update the project management plan

C.Communicate the resource availability delay and manage the stakeholder participation levels
D.Do not take any action, since the issue has been discussed in the kick off meeting
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21.The conflict among some project member may delay the project, what should the project

manager do next?
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A.Solve the conflict in advance in private

B.Delay the conflict, and evaluate if it will impact the project in future
C.Report the conflict to function manager

D.View the human resource management plan and take the corrective action
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22.A project is near completion and another US$120,000 is needed to finish the project. Even
though USS$1 million has already been spent on the project, the project sponsor requires the
project manager to stop the project for various circumstances In this case the actual costs are:
A.Direct costs for the project

B.Part of the project’ s contingency reserve

C.Indirect costs for the project

D.Sunk costs not taken into account for this decision
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23.A storm damages a data center, causing a delay to the project. as a result of this unexpected
event, what should the project manager do next?

A.Use management reserve funds to generate a workaround

B.Delay the project and wait for management’ s directions

C.Update the schedule and advise the project sponsor

D.Meet with the project team to discuss the immediate response
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24.A project manager works on a USS3 million project which involves two suppliers. The project
manager creates a statement of work(SOW) for each supplier Which of the following needs SOW?

A.Risk management plan

B.Project charter

C.Procurement management plan

D.Supplier scope statement
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25.The project management plan is distributed to all key stakeholders. However, the project
sponsor and the customer have comments and want to make some changes Who should receive
this feedback and take the appropriate actions

A.Change control board

B.Project sponsor

C.Project manager

D.Project team
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26.An unexpected risk occurs during a project. After analyzing risk, the project manager finds that
mitigating the risk to make the project success, but will increase the project cost What should the
project manager do next?

A.Get the approval from top management to increase the project budget

B.Arrange a project meeting to discuss the reason why the risk wasn’ t included in the risk
register

C.Get the approval of top management to use contingency reserve to mitigate the risk
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D.Arrange a project meeting to discuss how to push project according to the plan
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27 While estimating an activity cost, the team members estimate USS5,000 to hire a consultant
for the next year, divided as follows:US$4,500 - Consultant fee.US$200 - Inflation allowance for
next year US$300 - Buffer for unforeseen costs What should the project manager do next?
A.Estimate USS$4,700

B.Estimate USS5,000 with an explanation

C.Estimate USS$5,000 and update the cost baseline

D.Estimate USS$4,800
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28.A project is planned for four days with an allocated budget of US$4,000. The project manager
allocated a resource for US$1,000 per day to complete the work in the scheduled time. At the
end of the second day, the amount of work performed is evaluated at USS$1,600.If the
productivity rate of the resource remains the same, when is the project expected to be
completed?

A.6th day

B.5th day

C.4th day

D.3rd day
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29.After identifying a risk with the company’ s standard template for contract statements of
work(SOW), the steering committee decides to use a special SOW template for all project
contraction which of the following should the committee the special SOW template?

A.Primary contractor agreement

B.Change order to the project management plan

C.Procurement management plan

D.Risk management plan
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30.In a weekly project review meeting, the project manager discusses various type project risks
Which of the following risk quantification techniques should be used?

A.Decision Tree Analysis

B.Probability and Impact Matrix

C.Risk Data Quality Assessment

D. Assessment of risk parameters
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31.To guarantee their next project delivery, two project teams require the same critical resource
within the same timeframe. What should the project manager do first?

A.Inform the customer that the delivery will be delayed

B.Advise the resource to work overtime to complete both activities

C.Review the human resource management plan and contact a preferred consulting firm

D.Arrange a joint problem-solving session with the two team leaders to identify possible actions
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32.A project manager determines which risks have the greatest impact on the project and plans
to use a sensitivity analysis model. The project manager is in which of the following processes?
A.ldentify risks

B.Perform quantitative risk analysis

C.Control risks

D.Perform qualitative risk analysis

32. WUHLBWHE 1 WRLE KU I H P AR R ok, IRl 6 Bk A . H 2
HHATAL TR AN AR ?

AE) AR

B. 52 it E £ XL

C. B 4% ]

D. St 78 14 KU 23 T

33.During a project’ s closing phase, a project manager presents the last project deliverable and
run the acceptance criteria. However, before accepting the project, the customer wants to add
extra functionality.What should the project manager do next?

A.Agree to include the requirement

B.Update the project management plan according to the new request

C.Review the impact of the change and start the change management process

D.Reject any changes since the project is in the closing phase
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34.During the project’ s execution phase, a key executive reports that a portion of the project will
be given to a new external vendor for development. The new vendor provides their additional

requirements which cause a potential delay in the delivery schedule.What should the project
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manager do next?

A.Notify stakeholders of the scope change according to the communications management plan
B.Update the risk management plan

C.Adjust the project management plan, schedule, and priorities to control the impact

D.Conduct a risk reassessment
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35.While working with a customer to validate a deliverable, the customer notifies the project
manager that several required data fields are missing. The customer indicates that the data fields
are included in the requirements During which of the following processes should the project team
have discovered this error?

A.ldentify benchmark

B.Report performance

C.Control scope

D.Control quality
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36.A risk identified in the risk register is realized by the design team. As a result, the project
expenses will increase by 15%.What should the project manager do next?

A.Execute the response plan for the identified risk in risk management plan

B.n membeGet together all desigr and discuss the other solution

C.Inform the key stakeholders that one risk impacts the project budget

D.Reduce other tasks’  cost, balance the cost to make sure project cost is within the budget
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37.During the customer’ s final acceptance of deliverables, the project manager encounters
opposition from a local group. The project manager’ s company conducts a root cause analysis and
discovers that the project did not adequately consider environmental factors for the project During
which process should this have been completed?

A.lnitiating

B.Monitoring and controlling

C.Planning

D.Executing
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38.A project manager works with the sales manager on a request for proposal(RFP). The customer
is interested in a new product feature which is still under development. The sales manager asks
the project manager to include in the response that the feature is available

What should the project manager do?

A.Respond according to the sales manager’ s suggestion

B.Escalate the issue to the project sponsor

C.Advise the customer that the product feature is not available

D.Refuse to respond to the RFP
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39.While preparing for monthly stakeholder meeting, the project management.identifies a
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resource availability issue that could impact the project schedule will not be impacted.Which

should the project manager do next?

A.Work to resolve the issue so that it does not impact the schedule

B.Acquire additional resources to resolve the issue

C.Discuss the issue with the stakeholders during the monthly meeting

D.Meet with the project team to brainstorm how to resolve the issue
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40.A project manager works on a telecommunications project which is a high priority for the
organization. After defining the scope, which of the following processes should the project team
work on next?

A.Create WBS

B.Determine budget

C.Develop human resource management plan

D.Define activities
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41.A project manager schedules a meeting with all stakeholders to review and approve the project
management plan and all subsidiary plans. After minor changes are made, approval is given to
proceed to the next stage.What should the project manager do next?

A.Baseline the project management plan and then process the minor changes

B.Update the project management plan and send it to all stakeholders

C.Continue to the next phase and then review the minor changes

D.Conduct individual meetings with the stakeholders who suggested the minor changes
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42 Which of the following techniques attempts to balance resource requirements by
reschedulingspecific activities?

A.Scheduling compression

B.Leveling

C.Smoothing

D.Adjusting leads and lags
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43.Before the stakeholder meeting. What communication method should the project manager use
to obtain key stakeholder approval of the project management plan?

A.Email

B.Interactive

C.Pull

D.push
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44.A newly assigned project manager determines that the project is on time and with budget.
However, a supplier’ s deliverables will be delayed.Which should the new project manager do
next?

A.Conduct a quantitative risk analysis and identify how the risk must be addressed

B. Meet with the supplier and request an immediate resolution

C.ldentify and evaluate the projected impact on cost and schedule

D.Execute the contingency plan to address the impact on the project schedule
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45.While developing a project charter for an internal project, the project manager realizes some
functional managers’  expectations conflict with each other and could negatively impact the
project What should the project manager do next?

A.Develop a communications management plan

B.Perform a stakeholder analysis

C.Evaluate the risks

D.Escalate to the project sponsor
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46.The project manager holds a project closure meeting with the customer. The agenda includes
collecting customer feedback and evaluating their satisfaction.Which of the following work this
information allows the project manager do?

A.Ensure the success of future project

B.Ensure the future cooperation with the customer

C.Evaluate project performance

D.Update the responsibility assignment matrix
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47.0ne project needs to purchase one merchandise from one supplier, but this supplier is out of

stock for this merchandise, the project manager planes to purchase the merchandise from another
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A.Update the schedule plan according to the purchase lead time for the new supplier

B. Inform the customer with the change request and get the approval of the changerequest
C.Evaluate the impact on project budget or contingency reserve on schedule

D.Require procurement depart to cancel the purchase order with old supplier
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48.During the selection of a supplier for a complex project, the project manager wants to ensure
the potential suppliers have a clear understanding of requirements. The project manager identifies
three potential suppliers from a prequalified list

A. Review the suppliers’ proposals

B.Ask a third party to select the supplier that best fits the requirements

C.Ask the sponsor for feedback on the prospective suppliers

D.Invite the suppliers to a bidder conference
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49.Concerned that a project will miss a critical milestone, the customer insists on conducting the
phases concurrently to save time. Before approving this change, which of the following should the
project manager conduct?

A.Schedule impact analysis

B.Crashing impact analysis

C.Dependency and requirements analysis

D.Cost impact analysis
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50.During a team meeting, the project manager collects information for the project charter. Which
of the following will be included in the project charter?

A.Assumptions and constraints, high-level risks, and stakeholder list

B.Project purpose, summary budget, and project management plan

C.Scope baseline, team composition, and project management plan

D.Assumptions and constraints, work breakdown structure, and summary budget
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51.A company implements new software for the human resources department. However, technical
issues cause schedule delays and impact the project budget.To address the situation, which of the
following stakeholders should the project manager engage?

A.Software vendor

B.Information technology manager

C.Human resources manager

D.Project sponsor
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52.An approved strategic plan allocates US$15 million to a building renovation project. The senior
executive for the project.What should the project manager do next?

A.Update the project charter

B.Update the stakeholder register

C.Update the risk register

D.Update the risk management plan



s PMP (SELEEIAEL 1 (SENEA ) oficn dzxPmp
52. — A CLHAE FOm e el o) — BT F A7 7 1500 /33576 3 Fl M2l 0 B 7T 2
Al AR T HNEGAEE. THET 5 %E AN

AT H A

B. S R 7 B

.56 4 MK B

D. 55 41 KUK B 59 )

53.A project manager is assigned to a new project. A first draft of the project charter was already
written by the project sponsor. The project sponsor notifies the project manager that some key
stakeholders were forgotten during a previous similar project. The project sponsor mandates that
the project manager ensure that all stakeholders be identified.What approach should the project
manager take to gather the required information

A. Consult the lessons learned from the previous project

B.Consult the project charter from the previous project

C.Start to prepare a stakeholder analysis from scratch

D.Obtain the project management plan from the previous project
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54.After confirming the availability of human resource and obtaining teams for project
assignments, the project manager discovers that the resources will not sufficiently meet the
project schedule. The project manager meets with a functional.manager who agrees to make
additional resources available for the duration of the project What tool or technique does the
project manager use?

A.Negotiation

B.Acquisition

C.Pre-assignment

D.Co-location
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55.As a result of financial issues, seller a will be late in delivering a critical product. According to
the contingency plan, seller B is an approved vendor and could deliver a similar product.What
should the project manager do next?

A.Submit a change request to the change control board

B.Hold a bidder meeting with potential sellers

C.Review business case to ensure the return on investment

D.Submit a change request to procurement department
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56.Which one of the following techniques could be used to measure the compliance ofa project
to the organizational policies and procedures?

A.Benchmarking

B.Delphi

C.Root cause analysis

D.Quality audit
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57.A project manager completes a large project that requires equipment purchases from a local
vendor. Which of the following activities would occur in the close procurements process?
A.Updating the procurement management plan

B.Updating the terms and conditions of the contract

C.Archiving the contract documentation

D.Archiving the project management plan
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58.During an internal project team meeting, the scheduling assistant shares.information that the
project manager does not want shared with the other team members. The project manger
immediately asks the assistant to stop discussing this topic and to meet privately after the team
meeting has concludedThe project manager uses what tape of conflict management?
A.Smooth/accommodate

B.Collaborate/problem solve

C.Force/direct

D.Withdraw/avoid
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59.At the end of a project, a customer inquiries about a missing item. To ensure all items are
completed, what should the them have referenced?

A.Work breakdown structure

B.Project scope

C.Activities list

D.Project management plan
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60.Miday through a project’ s execution, a customer requests additional.functionality that will be

critical from a business perspective. Which of the following subsidiaries of the project
management plan will be primarily impacted?

A. Configuration management plan

B.Scope management plan

C.Risk management plan

D.Communications management plan
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61.A project manager must provide performance data to the project sponsor. To ensure
consistency with previous status reports, the project manager verifies the quality of the
information.What technique does the project manager use?

A.Forecasting methods

B.Variance analysis

C.Information gathering

D.Checklist analysis
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62.Due to an organizational change, some functional human resources will no longer be available
work on the project. The organization lacks internal resource to fill the vacancies What should the
project manager do to address this resource issue?

A.Redistribute the workload across the remaining functional resources

B.Assess external resource

C.Reschedule the project

D.Escalate this human resource issue to the project sponsor
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63. When moving to Agile project management, a key factor for the project manager's success
will be:

A.shifting from a controlling mindset to a facilitating mindset
B.directing the work in a more incremental fashion

C.only assigning tasks for the nextiteration

D.giving up control and rotating management through the team
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64.After completing the define scope process, which technique should the project manager use
to generate a reliable estimation and manage cost and activity duration?

A. Decomposition

B.Precedence diagramming method

C.Earned value management

D.Establish a benchmark
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65.At a project status meeting, the vendor reports that they will miss the deadline to release
software, which will be required for the project to move forward. What should the project
manager do first?

A.Update the project management plan

B.Negotiate a new release date with the vendor

C.C.Perform the change control process
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D.Issue a change request for approval
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66.A web development firm delivers a product to the client on time and 20% over the original
budget. The client is currently soliciting bids for a new web project.What should the web
development firm ’ s project manager do during the closure phase to enhance customer
relations?

A.Request requirements for the new web project

B.Conduct a stakeholder analysis

C.Meet with the client to review lessons learned

D.Implement corrective actions of the budget controlling
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67.The project manager begins to close a supplier contract. In order to ensure the correct
acceptance of the contract, which of the following completing sequence should the project
manager follow?

A.Verify completed work, close financial work, close contract

B.Close contract, verify completed work, close financial work

C.Close financial work, close contact, verify completed work

D.Verify completed work, close contract, close financial work
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68.Due to a budget reduction, a project is terminated in the implementation phase. The project
manager is asked to formally close the project.What should the project manager do next?
A.Update the change management plan as part of project closure

B.Draft lessons learned with the team and add to the historical database

C.Request an increase in the budget so that the project can continue

D.Continue to manage project communications
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69.A division of a corporation undertakes a one-year integration project. At the end of the second
month, the project status report shows the project is progressing according to plan. The corporate
office announces this division will be sold in three months.What should the project manager do
next?

A.Communicate with the project sponsor and the key stakeholders to validate if the project is still
relevant

B.Suspend the project immediately and wait for the final outcome of the division’ s sale

C.Cancel the project immediately as there is no need for integration with the corporation’ s
systems

D.Continue with the project until the division’ s sale is finalized
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70.Before developing a project charter, the project manager works with a consultant and subject
matter experts to determine any constraints. Which of the following techniques did the project
manager use?

A.Lessons learned



Fr2\ PMP (FELEHIRE S18 (2EER ) olicn 2PMP
B.Historical information

C.Strategic plan

D.Expert judgment
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71.To report the quality test results on the deliverables, what should the project manager take to
the stakeholders meeting?

A.Work performance reports

B.Updated quality management plan

C.Process improvement plan

D.Quality control measurements
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72.A project manager assigns an activity to a team member. The team member performs the
activity as the understood. However, the results do not meet the project manager’ s expectations
To avoid this situation, what tool should have been used?

A.Interactive communication

B.Active listening

C.Encode and decode

D.Push communication
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73.Due to unavoidable circumstances, a project is terminated before it is completed. What should
the project manager do to close the project?

A.Prepare the change management documentation

B.Prepare formal documentation indicating why the project terminated

C.Update the benefits realization documentation

D.Reassign the team members
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74.A USS$150,000 project requires the completion of the following tasks: Task 1 starts today and
has an estimated duration of 2days.Task 2 cannot start until task 1 is finished and has an estimated
duration of 8 daysTask 3 cannot start until task 1 is finished, must be completed before task 4
starts, and has a duration of 4 days.Task 4 cannot start until task 2 is finished and has an estimated
duration of 8 days Task 5 cannot start until task 4 is finished and has an estimated duration of 1
days What is the duration of the critical path?

A.15 days

B.17 days

C.19 days

D.23 days
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75.Due to scope creep, project team members must work long hours which results in low morale.
After a team member resigns, other team members must postpone vacations to maintain the
project schedule

At the next project review board meeting, the project manager should do which of the following
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A.Use the human resource management plan to request additional resources

B.Use the project management information system to request an extension to the project schedule
C.Propose a change in scope to reduce the team’ s workload

D.State that project completion is on schedule and recommend the team members for an award
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76.In a project closure report, a project team discovers risks which were not identified during the
project life cycle. The project team recommends performing a risk reassessment for future projects
In which of the following should this recommendation be documented?

A.Organizational process assets updates

B.Project reports

C.Historical information

D.Risk register updates
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77.A potential client submits a multiyear project’ s request for proposal to the project manager.
Before presenting any documents, the project manager speaks with the client and discusses the
information received. Next, the project manager discusses the information internally.The project
manager is doing which of the following?
A.Develop the project charter
B.Define the high-level scope
C.ldentify the high-level risks

D.Perform a key stakeholder analysis
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78.During the execution phase, a new contractor takes over a project deliverable. The remaining
project deliverables are not affected by the contractor changeDuring the kick-off meeting with the
new contractor’ s team, what should the project manager address first?

A.Discuss the cost baseline

B.Review the scope baseline

C.Identify the team’ s roles and responsibilities

D.D.Outline the role of the project manager
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79.The project manager learns that a change request is approved. This change impacts the project
cost and schedule.What should the project manager do?

A.Change the baseline

B.Change the risk register

C.Change the work breakdown structure

D.D.Change the resource plan
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80. During project planning, the project team collects cost estimates, the delivery of major
components, and specific engineering durations. To calculate a distribution of possible outcomes

A.Schedule network analysis
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B.Monte carol simulation

C.Critical path method

D.Resource leveling
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81.During system testing, the number of tests that fail by type or category of identified cause is
recorded. The project manager needs to address the areas of greatest fault first to correct the
errors.What type of tool or technique should the project manager use? A.Control chart

B.Histogram

C.Pareto chart

D.Scatter diagram
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82.A project manager uses a weighted PERT distribution. The most likely cost for the task is
USS$35,000, if successful, the cost may be as little as USS$25,000, and is not expected to excel
USS$40,000.What is the expected cost for this task?

A.US$33,333

B.USS$34,166

C.US$35,000

D.US$40,000
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83.A project team is composed of 15 team members from the project manager’ s company. Ten
team members are from the customer’ s organization, and three team members are from external
consultants

Where should the project manager find a definition of the roles and responsibilities for the
variously team members?

A.Resource management plan

B.Project organization plan

C.Staffing management plan

D.Resource breakdown structure
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84.A team subdivides the project work and deliverables into smaller and more manageable
components. Which of the following inputs should the team use?

A.Requirements documentation

B.Decomposition

C.Scope baseline

D.Work breakdown structure
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85.What are the three types of cost of quality that may be incurred during a project?
A.Prevention, appraisal, and failure
B.Environmental, appraisal, and prevention

C.Appraisal, labor, and prevention
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D.Stakeholder, prevention, and labor

85,70 H ot 4 ] e A AR R = o it A R AR ST 2

AT AR« A AR R R IR A

BINFE A . 1A A AT A

COPMRAS . N LA R TRy e A

D. TR NA . TR AN LA

86.In a weak matrix organization, who manages the budget for a construction project where
multiple change orders will be expected?

A.Contractor

B.Project management office

C.Functional manager

D.Project manager
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87.A project team must resolve a manufacturing issue. What should the proeject team do next?
A.Define the issue, generate solutions, and recommend solutions to management

B.Brainstorm the issue, generate solutions, and ask the project manager to decide

C.Provide senior managers the details regarding the manufacturing issue and let them decide
D.Create a risk management plan for the project manager to present to management
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88.While executing a schedule-driven project, the schedule performance index becomes 0.8. the
project manager applies fast tracking and schedule compression techniques without any success
What should the project manager do next?

A.Initiate the integrated change control process

B.Apply changes to the schedule baseline

C.Ask the sponsor for additional resources
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D.Reduce the project scope
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89.A project manager gathers the first found of requirements in a group meeting with key
stakeholders. One of the stakeholders controls the conversation and the project manager fears
that not all requirements are fully identified.To ensure the requirements are fully and accurately

documented in a non-biased manner, the project manager should do which of the following?

A.Hold a second meeting that excludes the vocal stakeholder

B.Provide an anonymous communication channel for all stakeholders to provide feedback
C.Document the potential for incomplete requirements in the risk register

D.Allow the integrated change control process to capture future requirement changes
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90.After evaluating the project needs, the project manager decides to acquire a subject matter
expert, who will work virtually. What should the project manager do to plan project
communications?

A.Conduct a meeting and ask the internal team members to facilitate communications with the
virtual team member

B.Take additional actions to set clear expectations and clarify how team members will
communicate

C.Update and communicate the risk management plan to the customer

D.Follow the same communication process for both the internal and virtual teams
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91.A key stakeholder asks the project manager to quantify the project risks. Which of the
following documents should the project manager use to provide the requested information?
A.Cost management plan and schedule management plan

B.Schedule management plan and human resource management plan

C.Human resource management plan and cost management plan

D.Scope baseline and cost management plan
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92.During a project’ s execution, the program manager advises the project manager that the
project will be cancelled. What should the project manager do next?

A.Reassign the resources to other projects

B.Meet with the project sponsor and the program manager

C.Continue the phase to completion

D.Create a change request for the delivery manager
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93.Who can request changes to a project regarding a substantial project budget overrun?
A.Only the project sponsor

B.Any stakeholder

C.Only the project manager

D.The organization paying the additional cost

93 T LA 3R 5 T H PR i b S A < (1 20 H A2 B 2
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94.A project is currently on schedule and within budget. A component used in the project that
was procured from an external source suddenly breaks down. The procurement contract includes
an insurance condition stipulating the supplier should replace the component within two weeks
The implementation of such a strategy is called:

A.Risk avoidance

B.Risk mitigation

C.Risk acceptance

D.Risk transfer
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95.Before project status meeting, the project manager uses electronic mail to report project
progress and project performance reports. What communication method project manager used?
A.Interactive communication

B.Push communication

C.Pull communication

D.Active communication
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96.Due to unexpected circumstances, a project stops during implementation. Six month later, the
organization wants to finish the project and assigns the same project managerWhat should the

project manager do first?
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A.Review all initiation and planning outputs and confirm any changes with the project

stakeholders

B.Review all initiation and planning outputs and revise the project management plan

C.Review the project management plan and continue with the execution to finish the project
D.Review all planning outputs and follow the change management plan
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97.Midway through the project, the project manger must determine if the planned budget will be
sufficient to complete the project. Which of the following should the project manager calculation
and then compare with the original budget

A.Estimate to complete

B.Estimate at completion

C.Earned value

D.Budget at completion
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98. During the analysis phase of a company’ s project, the project stalls because key stakeholders
within various departments disagree on basic project requirements. With no prospective
resolution, the project manager escalates the project risk. The project sponsor decides to
terminate the project.Which of the following does this describe

A.Risk avoidance

B.Risk transfer

C.Risk acceptance

D.Risk mitigation
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99.As a result of the quality control process, a change request is generated and approved by the
change control board.What should the project manager do next?

A.Arrange the implementation of the approved change

B.Evaluate the change request with change control board

C.Evaluate the risk if not to implement the change

D.Perform root cause analysis to determine the cause of the change
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100.After a detailed list of project activities is created, the project manager wants to estimate the
project” s total cost without changing the project’ s duration or deliverables. Which of the
following estimating techniques should the project manager use?

A.Three-point

B.Bottom-up

C.Analogous

D.parametric
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101. During project initiation, a key stakeholder claims the project is no longer viable. What
should the project manager do to evaluate the project’ s viability?

A.Refer the stakeholder to the project sponsor.
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B.Delay reassessment until project funding is exhausted at the end of initiation.

C.Check alignment with the business case and present to sponsor and key stakeholders.

D.Start the project closure process immediately.
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102. A project is delivered on-time, within the staffing budget, and is according to customer
requirements. The project seems to be successfully launched. However, three months after the
launch, the customer is concerned with the product and proposes a new project and design
change. During project closing, what should the project manager have done?

A.Validated scope

B.Measured customer satisfaction

C.Reviewed test reports

D.Standardized inspections
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103. A risk in the risk register is realized late in the project. What would be the most effective
response to the situation?

A.Use the management reserve.

B.Perform a quantitative risk analysis.

C.Perform a qualitative risk analysis.

D.Use the contingency reserve.
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104. The sponsor asks the project manager to quickly implement the primary deliverables* The
project manager attempts to allocateresources to the first tasks, but realizes resources are not
available.To identify the required skills, which of the following documents should the project

manager reference first.A. Resource calendars

B.Project scope statement

C.Human resource management plan

D. WBS dictionary
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105. A new team member joins a project. Because the new team member does not have any
previous experience with the company, the project manager recommends that the team
n*ember review project files from the company’ s previous projects. This is an example of
leveraging which of the following?

A.Infrastructure

B.Project management information systems

C.Organizational process assets

D.Enterprise environmental factors

105.— 44 H7 A BN B A I T H o H1-T-37 1 BABR 572 22 BT AE 2 VA AT AT 2256, T H 28 B 1L 4]
BARR 52 B A \) 2 BT IUE 0 H SO 32 R T S8 — 35T ) s 451 2

A B 13 it

B.UIH EHEE RSR

C.HZ LT ™

D. MV FREE A 3%

106. A project is created to establish a new call center, and the development of training material
is subcontracted to an external training services providers. The training provider accepts a fixed
price contract for its services. Project risks associated with the subcontracted development of

training materials is an example of which of the following strategies'?
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A.Mitigated

B.Transferred

C.Accepted

D.Avoided
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107. When preparing a business case with a financial analyst, what key document is needed?
A.Cost-benefit analysis

B.BStatement of work

C.Contract

D.Project charter
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108. As a new project enters the development phase, the project manager is notified that the
shipment of a key project component may be delayed; the project cannot be completed without
this component. As a result, the project manager requests an extenuation to the project schedule
to accommodate the delay. Which of the following was used to manage the risk?

A.Avoid

B.Mitigate

C.Exploit

D.Accept
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109. A project manager completes development of the project management plan. Approval is
obtained from all the key stakeholders, with the exception of the sates manager. Should the
project manager proceed with project execution?

A.No; the project manager should complete a risk register and escalate to the project sponsor.
B.No; the project manager should continue to follow the process and obtain the sales manager's
approval,

C.Yes; the project manager should proceed and inform the project sponsor of the situation.

D.Yes; the project manager should proceed to avoid delay, and follow up with the sales manager
as soon as possible.
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110.A project manager is assigned to a project to replace an outdated system. During
installationthe equipment is damaged and requires technical resources to repair it. What
document must be updated to communicate this occurrence with the stakeholders?

A.lssue log

B.Status report

C.Incident management plan

D.Resource allocation matrix
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111. Due to quality control issues, a project is behind schedule. There is no obvious pattern to the
identified defects. Using a qualitative approach, which quality control tool should be used to
determine the source of the defects?

A.Histogram

B.Pareto chart
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C.Scatter diagram

D.Cause and effect diagram
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112.A team member is impacting work performance with negative behavior. What technique
should the project manager use to address this issue?

A. performance appraisal

B. Coaching

C.Conflict management

D.Norming
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113.A project was completed one year ago, and the project manager and resources are assigned
to another project, The customer emails the chief operations officer claiming that a deliverable is
not within the expected quality level and requests a change to this deliverable, Before respondjn8
to the customer, what document should the chief operation officer review first?

A. Requirements management plan

B.Customer acceptance documents

C.Quality inspection report

D.Statement of work
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114. During the initiation phase of an international project, a project manager analyzes the
project scope statement with experts; the experts inform the project manager that some project
deliverables will not be practical due to import restrictions. What should the project manager do
next?

A.Remove the impractical deliverables from the project scope statement and charter, and then
initiate the project.

B.Initiate the project as originally planned, and if issues arise, transfer risk to an external party.
C.Initiate new scope and contract negotiation discussions with the project sponsor and the key
stakeholders.

D.Incorporate the risk of import restrictions in the risk management plan and risk register.
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115. During a company’ s relocation to a new data center, a project team member discovers that
the new data center’ s power supply will not be sufficient. To support forecasted growth over the
next three years, additional resources costing US$480,000 will be required. As the project
manager had previously identified this as a risk, what tool should have been used to determine if
the contingency budget would adequately cover this costs?

A.Status meeting

B.Reserve analysis

C.Risk reassessment

D.Technical performance measurement
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116. A team member with key technical skills disagrees with the way in which the project is

managed. What should the project manager do first?

A.Meet with the team member privately to discuss the issue.

B.Continue with the project because it will not affect the project’ s progress.

C.Acknowledge the team member’ s contributions and ability on the project

D.Address the. Team member’ sissue in a team meeting
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117. After noticing a conflict within the team, the project manager attempts to resolve the conflict
by emphasizing the areas on which the team agrees and de-emphasizing the areas on which the
team disagrees, this is an example of which of the following conflict resolution techniques

A. Compromise/Reconcile

B.Smooth/Accommodate

C.Collaborate/Problem Solve

D.Withdraw/Avoid
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118. During development of the project’ s budget plan, which of the following should assist the
project manager in determining the total project costs?

A.Resource calendar

B.Earned value method

C.Cost variance analysis

D.Cost control process
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119. A team member informs the project manager that an assigned task cannot be implemented
by the established method. The team member suggests a new method that may require additional
time and impact the project baseline. What should the project manager do first?

A.lmplement the change immediately to meet the schedule baseline. .

B.Initiate the change request process.

C.Meet with the sponsor to explain the situation,

D.Perform an impact analysis of the change request.
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120. A project manager suspects there is a quality defect in a recently produced batch of products.
However, a test for this defect will be destructive to the products. What should the company do
next'?

A.Execute a design of experiments on the batch of products.

B.Randomly select units from the batch to measure the extent of the defect.

C.Execute statistical sampling with pre-defined acceptance criteria.

D.Release the current batch to sell at a discounted price,
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121. Due to resource constraints, a project manager determines that a portion of the project work
must be outsourced, Which of the following inputs are required to ensure the requirements and
the timeline are met?

A.Qualified sellers’  list and scope

B.Schedule and scope

C.Cost estimates and performance
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D.Cost estimates and schedule
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122. Remote project team members request that project meeting times are changed to a time
within the remote team’ s working hours, However, local team members do not agree with this
proposal. What should the project manager do next?

A.Arrange a team meeting with all parties to determine a suitable time.

B.Discuss with the sponsor to decide upon a suitable time.

C.Accept the remote team’ s request for a trial period.

D.Reject the remote team’ s request as it is not in the communications management plan.
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123. The project manager identifies that a finish-to-start dependency for an activity on the critical
path is missing. The project schedule was already communicated to the customer. What should the
project manager have done to avoid this issue?

A.Reviewed the work breakdown structure

B.Conducted a schedule network analysis

C.Prepared a risk management plan

D.Conducted an earned value analysis
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124.A project’ s total cost is US$200,000. The project management requests a study to verify
whether the project will run behind schedule. The project has a 35% chance of incurring a penalty
of US$20,000 due to a delay in completion. There is a 65% chance that the company will earn
USS$500,000 on the project. What is the expected monetary value?

A.US$118,000

B.US$293,000

C.US$318, 000

D.US$325,000

124. T H B AN US$200, 000.5 H & B A S ZRIFJE— BT FL, SRIIETH &5 2% )5
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A.USS$118,000

B.USS$293,000

C.US$318, 000

D.US$325,000

125.During project execution, 'the project manager discovers that a key supplier is having .financial
difficulty and could discontinue operations. What should the project manager do to address the
issue?

A.Organize a vendor conference and select a new supplier,

B. Request a quote from another supplier for the outstanding work,

C.Cancel the existing contract and award a similar contract to another supplier.

D. Implement the risk response plan to control the risk
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126. A project team reports that the peer review process has non-valued activities. The quality
team must review the observations and process the overall adherence. Which of the following
does the quality team perform?

A.Quality adherence

B.Quality Planning

C.Quality Control

D.Management quality
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127. A project manager is assigned a project with a demanding client. The project is dynamic
requires constant improvements and client feedback. Which of the following approaches should
the project manager adopt for this project ?

A.Extreme project management approach, as the project’ s goal is unclear:

B.Agile project management approach, as it is fast and iterative

C.Traditional project management approach, as it is simple and intuitive

D.Lean six-sigma management approach, as it fits the project constraints

127. 500 H 22 By B PR — AN R AT Z0IR P I, TUH 23R, BOREFEE0E L=
St WEH 2 BN Z 235 H R R B — AN Tk

AR I PR, RS IE H R A B

BAHPEI H EHJ5i%, BONHRE H ARG EEM

CALGim H g B ik, ROy i H B

DR S /N UKL BTV, R Lo A 0 H B 40 A B )

128. During project closing, the project manager reviews the deliverables with the customer. The
customer expresses concern about a deliverable, and both parties agree that it does not comply
with the requirements specification document. What should the project manager do-next?
A.Accept the issue as a defect and create a change request.

B.Evaluate the change. And update project documents.

C.Use a requirement traceability matrix to verify completed requirements.

D.Establish that deliverables were validated by a key user.
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129. In a project to upgrade a company’ s accounting application, the project manager sends

weekly emails regarding the project’ s status and the next activities. A key user of the application
complains that application outages are affecting their work performance. What should the
project manager do next?

A.Continue working according to planned activities.

B.Report the key user to their supervisor.

C.Review the stakeholder analysis and update to include the key user.

D.Review the stakeholder analysis and inform all stakeholders to include the key user in all emails
129 FETH R A R 2 vh B AR 30 H 350 H 28 B J) RO — A R I RS BA R 2235 3))
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130. A team member complains to the project manager about the lack of praise for their
achievements. To avoid this issue, what should the project manager have conducted in the
develop project team phase?

A.Personnel assessment tools

B.Team performance assessment

C.Recognition and rewards

D.Human resource management plan
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131. After the project team has brainstormed project risks, what should the project manager do
next?

A.Analyze and prioritize the risk.

B.Assign risk owner

C.ldentify risk mitigation strategies,

D.Report the risks to the stakeholders.
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132. After completing the final development of the produce, the project manager is ready to
transfer the ownership of the project’ s deliverables to the on-going support team. Which of the
following is an input for the project” s next phase?
A.lessons learned
B.Project scope statement
C.Project management plan
D.Completed milestone list
132 58 U™ i R TT K Z S WL H 22 BRE % 1) T RIS R B T RS 52 45 45 28 SR I
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133. Local community leaders express concern regarding the start of a construction project,
which could cause delays to the project. The project manager would like to analyze and
document.

A.Power/interest grid

B.Communications management plan

C.Stakeholders engagement assessment matrix

D.Stakeholder register
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134. A project manager obtains seller responses, as well as selects a seller to provide one of
project’ s key components. The project manager completed which of the following processes?
A.Control Procurements

B.Direct and Manage Project Work
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C.Plan Procurement Management

D.Conduct Procurements
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135.The purpose of a project burndown chart is to:
A.ldentify and communicate upcoming milestones.
B.Display the level of effort and resources utilized.
C.ldentify dependencies between sprints or iterations.
D.Display the remaining work across time.
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136. After a project review, the project manager asks a technical lead to conduct a causal analysis
of all the incidents and then prioritize the incidents. Which of the following tools and techniques
should be used?

A.PERT analysis

B.Monte Carlo

C.Pareto chart

D.Scatter diagram
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137. Due to an interpersonal conflict between two team members, team morale and productivity
are negatively affected, what conflict management technique should the project manager use to
resolve the conflict immediately?

A.Smooth/Accommodate
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B.TV withdraw/Avoid

C.Compromise/Reconcile

D.Force/Direct
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138. Each time a project component is tested, the component passes user acceptance testing and
fulfills all requirements, what process did the project manager implement and execute
repeatedly?

A.Control Quality

B.Perform Quality Assurance

C.Configuration Analysis

D.Sponsor Reviews
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139. A project change is identified. However, due to a high risk to the overall project, the change
request board projects the change. What should the project manager do next?

A.Communicate this to the project management office.

B.Schedule a corrective action.

C.Record rejected change request in the change log..

D.Update the project scope statement.
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140. A project manager schedules weekly team meetings according to the communications
management plan. Some team members report conflicts with the time and- miss some of the
meetings. What should the project manager do next?

A.Provide minutes for all meetings.

B.Reschedule a compatible time for all team members.

C.Apologize and explain difficulty in aligning at team members.

D.Meet with each team member separately
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141. During project execution, the project manager learns that the project sponsor will send a
team of external consultants to review whether the project activities are on track to meet the
project requirements and timeline. This is an example of which of the following types of action?
A.Corrective

B.Reactive

C.Preventive

D.Proactive
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142. Midway through a project, a stakeholder complains about the project scope and requests
new deliverables. What should the project manager do next?

A.Request additional funds from the sponsor.

B.Perform a variance analysis and update the work breakdown structure.

C.Clarify the stakeholder’ s new expectations and negotiate modification requests

D.Perform integrated change control.
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143. A project team is developing the work breakdown structure (WBS) for a project. Completion
of the project is contingent upon delivery of multiple subprojects. To move forward with the WBS,
what should the project team do?

A.Generate a decomposition of the subproject.

B.Use a rolling wave planning technique until all deliverables are clear and agreed upon.

C.Divide the deliverable of the subproject into work packages.

D.List missing deliverables as a risk to the risk register.
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144. A project exceeds the budgeted cost because external consultants cannot complete their
work until they receive input from a company’ s internal expert. However, this internal expert is
assigned to other projects. To prevent these incremental costs, what technique should have been
used in the planning phase?

A.Resource leveling to manage the resource constraints

B.Crashing schedule to bring additional resources to the project

C.Fast tracking technique to schedule tasks in Para" and decrease time

D.Cost reserve analysis to fund the unplanned costs
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145. A project manager has 10 people on the project team, including the project team, there are

25 stakeholders that could communicate with each other. How many potential lines of
communication are there?

A.55

B.300

C.500

D.2450
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146. During a construction project, the project manager wants to outsource the building of a
boundary wall at the construction site. Prospective vendors are invited to a conference. The
architect of the procuring company prepares a cost estimate to construct the boundary wall which
is not shared with the prospective vendors. What technique should be used to conduct
procurements?

A.Independent estimates

B.Proposal evaluation techniques

C.Expert judgment

D.Screening system
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147. After reviewing the task list, the project manager notices that fewer resources ate required at
the beginning of the project than during the middle of the project. The project manager wants to
balance demand for resources. With the available supply. This activity is an example of which of
the following?

A.Resource leveling

B.What-if scenario analysis

C.Critical path method

D.Schedule compression
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148. A project management office (PMO) manager is appointed within a global company. This
company claims that although projects ate delivered on time and with budget, the results do not
meet the company’ s business needs and are no aligned with the strategicplans.Which of the
following should the PMO manager propose to correct this situation?

A.ldentify the risk of not meeting expectations and present it at the next weekly project meeting.
B.Perform quality audits on an ongoing basis to ensure that project results meet the expectations.
C.Review the communications management process to ensure performance reporting is efficient
and effective.

D.Review the inputs of the organization project charters to ensure statements of work and
business cases are considered.
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149. While working with the project team to prepare a network diagram, the project manager
notices a series of activities can be performed in parallel, but must be finished in a specific
sequence. What activity sequencing method is required?

A.Operational diagramming method

B.Precedence diagramming method

C.Critical path method

D.Arrow diagramming method
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150. Activity 1 of project A has an external dependency (finish-to-start) from activity 2 of project B.
The external dependency was identified as a schedule delay risk for project IL However, the project
manager accepts the risk, which causes a delay. After acceptin8 this risks, what should the project
manager have done to minimize the impact?

A.Communicated the existence of the risk to the sponsor

B.Coordinated both projects within a program

C.Determined a contingency reserve

D.Established a management reserve
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151. The project manager identifies and records project roles, responsibilities and skills. Which
tools or technologies should project managers use to define resource management plans?
A.Organizational decomposition structure

B.Basic Rules

C.interpersonal skills

D.Responsibility Allocation Matrix
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152. During project execution, the sponsor leaves the company. What should the project manager
do next?

A.Perform integrated change control
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B.Decentralize project authority and decision-making

C.Produce a project status report

D.Conduct a stakeholder analysis
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153. A construction project experiences issues in obtaining permits. As a result, the project
schedule is negatively impacted, To reflect this schedule change, the project manager should use
which of the following tools or techniques?

A.Adjusting leads and lags

B.Resource levelin8

C.Defect repair

D.PERT analysis
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154. A project is cancelled due to a quality ad scheduling issues. In addition, a competitor just
released a similar product; the project manager is assigned to a new project with a fixed deadline.
What should the project manager do to ensure that to same issue does not occur again?

A.Conduct performance review and apply corrective actions.

B.Use the information provided in the final reports of previous projects.

C.Apply rolling wave planning to the work breakdown structure.

D.Assign subject matter experts t tasks on the critical path,
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155. A project charter is approved. While engaging with the stakeholders, the project manager
finds that the project charter contains incomplete information. Who is responsible for clarifying
the details with the project manager?

A.Project charter developer

B.Program manager

C.Project initiator or sponsor

D.Project management office
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156. While resolving a project issue, the project team generates ideas about the issue that can be
linked by common attributes. What technique is the project team using?

A.Interrelationship diagram.

B.Affinity diagram

C.Multi-criteria decision analysis

D.Network diagram
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157.A project manager is working on a multiyear project. Over time the technology tools and
techniques in the industry change, which one of the following should be used to ensure the
project produces the highest quality outcome for the customer?

A. Cause and effect diagram

B. Control charts

C.Continuous improvement

D. Pareto diagrams
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158.A project team learns that specific seller is in financial difficulty and could present a risk to the
project. What should the project manager do next?

A.Accept the risk and closely monitor the seller’ s deliverables.

B.Transfer the risk by adding a penalty clause to the contact.

C.Mitigate the risk by obtaining insurance for the risk.

D.Avoid the risk by identifying alternative sellers.
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159. A subcontractor’ s company can no longer perform the services under the terms of the
contract. What should the project manager do next?

A.Review the procurement agreement for an early termination clause.
B.Brainstorm with team members.

C.Update the risk management plan.

D.Request a meeting with the project sponsor to obtain advice.
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160.A full-time project team member leaves the company. The project manager identifies a Coiner
team member with a similar skill set. However, the team member is only available on a part-time
basis for this project. In addition to the project schedule, what other document should the project
manager update?

A.Resource demand
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B.Activity list

C.Communications management plan

D.Schedule baseline
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161. Three project tasks require services which the company cannot provide. To resolve this issue,
what should the project manager do?

A.Refer to the procurement management plan,

B.Initiate a project change request to use different services.

C.Ask the functional manage to recommend wanders.

D.Update the project schedule according to available resources.
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162. According to company standards, a web page should load within four seconds. The testing
team concludes that a specific webpage loads between six to eight seconds. What should the
project manager do first?

A.Initiate a change request for an exception to the standard.

B.Perform an assessment regarding how the test was conducted.

C.Work with the team to determine the root cause of the issue,

D.Evaluate the impact of non-compliance with a risk matrix.
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163. The project manager of an ongoing project leaves the company, and a new project manager is
assigned. The sponsor asks the never project ranger to check the status of a key stakeholder's
modification request. Where should the project manager find this information?

A.Project document updates

B.Change log

C.Stakeholder management Plan

D.Communications management plan
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164. A project manager is assigned to a new product development project | a functional
organization, the project team is selected from various locations according to expertise. After
finding it difficult to manage project team members who are located in different locations, the
project manager requests a new location to bring the team together, What technique does the
project manager use to Develop Project Team?

ATight Marti

B.Beam building

C.Forming

D.Ground rules
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165. After the project 'work is completed, a meeting is held with the client to. Deliver the four
products. The client accepts two of the four products, and indicates that the remaining two

products do not meet the requirements. Before delivering the product, which process should the
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project manager have following to ensure alignment with the customer’ s expectations?

A.Control Quality

B.Perform Quality Assurance

C.Perform Quality Control Measurement

D.Perform Quality Audit

165. £ 30 H TAESE R, 557 —BATF WS dho 20 332 A b K e
A FERWIRIR AT b AL Ko SO b2 /T, I H S BN AZ BRSO R S
B R E?

A 5

B.hAT it E fRAIE

CARAT it Bl PN

166. A project to deliver a product’ s prototype is on schedule. However, actual costs exceed
estimated costs. The project manage must determine if the process to measure product quality is
stable and predictable. Which of the following tools should the project manager use?

A.Force field analysis

B.Control chart

C.Critical chain method

D.Benchmarking
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167. A team member versa unable to attend the last project review meeting. The project manager
confirms with the team reamer by phone that the project icon track and on budget. What should
the team member consult to determine what task to perform next?

A.Activity management plan

B.Task management plan

C.Project schedule

D.Project calendar
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168.An issue will delay the project and increase costs. To avoid this issue in the future, what

method should the project manager use to identify the root cause?
A. Histogram

B.Risk assessment

C.Fishbone chart

D. Pareto chart
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169.The project managed receives an urgent email from the customer requesting a change. What
should the project manager do next?

A. Record the request and begin the change request process.

B.Ask the project sponsor for an urgent approval.

C.Implement the change and then inform the change control board.

D.Assess the. Change request and move forward with the change.
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170. The project is half way to completion and continues to be over budget. The current project
metrics are as follows: Schedule Performance Index (SPI) =0.96 Cost Performance Index (CPI) =0.98
Actual Cost (AC) =500,000 Budget at Completion (BAC) =1,000,000

Which of the following is the expected total cost of completing all work?

A.USS1, 505, 024

B.USS1, 101, 666

C.USS$1, 020, 408

D.US$990,073
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A.US$1,505,024

B.US$1,101,666

C.US$1,020,408

D.U$990,073

171. A project manager is assigned to a project with a rapidly changing environment. The
requirements scope is difficult to define in advance, which of the following project life cycle
models should assist the project manager to define small incremental improvements and deliver
best value to stakeholders?

A.and incremental life cycles

B.Adaptive life cycles

C.Predictive life cycles

D.Phase-to-phase relationships
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172.During project implementation, a key team member in a balanced matrix organization is
transferred to another project. The project is now in jeopardy of being delayed. To prevent this
situation, what should the project manager have done?

A.Defined the team member’ s project availability and obtained agreement in the staff release
plan

B.Outsourced the task because the team member had too many projects

C.Prepared the team members to work overtime so they could work on both projects

D.Created a buffer in the project schedule to prepare for such occurrences
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173. During a project assessment, the project manager discovers the internal production capability
will be insufficient. To resolve these issues, the project manager is provided with two option; 1)
build a new internal production line, and 2) outsource the process. To determine how to proceed,
which of the following methods should be applied?

A.Cost risk simulation

B.Monte Carlo technique

C.Tornado diagram

D.Decision tree diagram
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174. During project execution, the project manager implements affix&-price contract with a key
vendor due to concerns with cost overruns. This is an example of which of the following?

A.Use of the procurement management plan

B.Use of the vendor selection process

C.Use of the qualified sellers list

D.Use of the fixed-priced contract technique
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175. A project developed jointly by a company’s internal team and a vendor experiences issues. As
a result, the company’ s president hires a new project manager. During the first project review, the
ne, project manager discovers that during phase one, the key project deliverable is not specified
and phases are not identified.What should the project manager do next?

A.Amend the project management plan and implement it as soon as possible.

B.FOCUS on completing the delivery of phase one according to the project management plan.



th2) PMP (SELSHIEE S48 (2EEMA ) olicn HPMP
C.Confirm the project scope with the sponsor and key stakeholders.

D.Update the project charter and obtain buy-in from key stakeholders.
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176. During a project status meeting, the project manager reviews with the team several risk areas
and suggests a mitigation plan for each risk area. A team member suggests a different mitigation
strategy for two risks. The project manager reviews all options with the project team. Which of the
following modes of conflict resolution does the project manager use?

A. Collaboration/Problem Solve

B.Withdrawal/Avoid

C.Compromise/Reconcile

D.Force/Direct
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177. The development team observes that two major project variables are moving in opposing
directions, which could put the project at risk.

What tour technique should the project manager use to determine how closely related these two
variables are?

A.Scatter diagram

B.pare to chart

C.Histogram

D.Variance analysis
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178. A stakeholder states that they did not receive the root cause analysis regarding an issue raised
during a recent project status meeting. The project manager discovers that the stakeholder is not
included in the report distribution list. What should the project manager do first?

A.Reference the risk register.

B.Update the communications management plan.

C.Perform a change request.

D.Update the stakeholder register.
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179. The project’ s earned value reports the cost performance index is 0.87, and the schedule
performance index is 1.18. What does the report indicate to the program manager regarding the
project?

A.Ahead of schedule and over budget

B.Ahead of schedule and under budget

C.Behind schedule and under budget

D.Behind schedule and over budget
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180. Which are some of the most important benefits of an Agile team sitting together in a
co-located, open environment?
A.Osmotic communication is reduced; space is used more efficiently; groups work together more

effectively, and team dynamics are improved.
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B.Costs are reduced as the need for conference rooms decreases, and the team can keep track of

where members are more accurately.

C.Team members can be held more accountable for their time and effort, and pair programming is
easier as people have less distance to move to sit with their partner.

Communication is improved; wait-time and rework are reduced; barriers between groups break
down, and groups gain respect for each other professionally.
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181. A product is delivered on time, delivered within cost, and meets quality expectations.
However, the project team is not sure if the product produced meet the client” s requirements.
Which of the following explains this situation?

A.There was poor communication among stakeholders

B.Project chart was incomplete

C.Expert judgment was not used during the requirement identification phase

D.Requirements traceability matrix was not being updated
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182. Midway through the project, the project manager realizes there will not be enough time to

complete all deliverables, what should the project manager do next?

A.Assess the issues that caused the current situation.

B.Provide the customer with alternatives for project deliverables.

C.Present a cause and effect analysis to the customer.

D.Schedule a meeting with the customer.

182,350 H rhige, TiUH 2 HE AR BB L 08 R I [B] K S T T AS A R o 300 H 22 BT RN
Z B AM?

AP 20 TR O A )

B.1A) % R I H R A2 A AR I AT %



) PMP (SELSHIAT 18 (2EER ) offcn dupmp
S eI
D2 HE K P

183. To develop the project management plan, a project manager works with the appropriate
resources and obtains the necessary approvals. After reviewing the plan, the project team is
confused about the project objectives and what is expected of them. What should the project
manager have done to avoid this situation?

A.Prepared more detailed roles and responsibilities

B.Conducted a project kick-off meeting

C.Developed a communications management plan

D.Provided a copy of the project charter
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184. To gain visibility of performance issues, a quality assurance report recommends that changes
be made in the project measurement process. However, if the changes are implemented, it will
impact the customer’ s delivery date. What should the project manager do next?

A.Inform the sponsor and ask for advice regarding how to address the situation.

B.Implement the changes to meet the required visibility of the performance issues.

C.Secure the delivery date for the customer and do not implement the changes.

D.Evaluate the impact of implementing versus not implementing the changes.
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185. During a critical component's development, a senior employee leaves the project. As a result,
the project is behind schedule. During the planning phase, the probability of the risk occurring was
determined to be low, and the impact was medium. What document should the project manager

update first?
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A Risk register

B.Risk management plan

C.Work breakdown structure

D.Staffing management plan
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186. A project is in the final execution stages. to launch a new product to satisfy market needs. The
competition is launching a similar product and time to market is a key project Objectives. Currently,
the cost performance index (CPI) is 1.2 and the schedule performance index (SPI) is 0, 8.To meet
project. Objectives, what should the project manager do?

A.Add resources and approve overtime for the team.

B.Reduce the scope to leverage CPl and SPI to O.

C.Take no actions as the project is ahead of schedule and will meet objectives.

D.With driver funds front the management reserve.
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187. A new project manager takes over a project in the implementation phase. Some project
members are looking for other assignments and want to leave the project team What technique
should be use to ensure that skills vital to the project are retained?

A.Team-building activities

B.Project performance report

C.Analytical techniques

D.Project performance appraisals
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188. A project manager is assigned a new project and discovers some experts believe the
software selected will not deliver the anticipated benefits.What should the. Project manager do
next?

A.Start the sponsor approved project an review the benefits with experts,

B.Create a project charter aligned to the business case and present it to the sponsor's
organization for approval.

C.Convene a meeting with experts to revisit the business case and obtain agreement to use the
appropriate software.

D.Allow the experts to resolve the issue and. begin resource planning activities for the project
team

188. 701 H 22 A /p B A P — AN H , RIL—2e B 0N, Il BRI AN 23R BETUT 2
o JUH 2L T RN AZEAM?

A JHGITH RENHER I H , JF 5L R —EH E53.

B.ANE — RIS IE— B H TR, R R A4 ke N A 2t
CHEFRRBAITZV, HHH ARMIRUE, FFIRAGAE AR A P

DAk AR PX AN, 9T H B IF 6 B8 I RIS 30

189. At the beginning of a project, a stakeholder argues that this type of project cannot not be
compared to previous projects developed writhing the company. Which tool should be used to
obtain relevant information?

A.Benchmarking

B.Market research

C.Organizational process assets

D.statistical sampling
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190.During the product’ s last quality inspection, a project team determines that the product

does not meet the specifications. The project manager requests that information is collected to
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proceed with the analysis. What tool of technique should be used to understand the data?

A. Burn charts

B.Pareto diagrams

C.Affinity diagrams

D.Check sheets
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191.A consultant is hired to perform data analysis for a project. The consultant has a contractual
arrangement that contains travel cost reimbursements and a fixed-price for labor. What contract
should used to acquire this expert’ s services

A.Cost-reimbursable

B.Time and material

C.Fixed-price

D.Fixed-price-incentive fee
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192.The project ravager schedules a meeting to obtain the key stakeholders approval for the
project management plan.' The project manager’ s agenda should include which of the following?
A.Change request review

B.Project charter review

C.Risk analysis review

D.Activity list review
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193. After completing 'work on an assigned deliverable, team members decide to add new
functionality to satisfy the customer. What should the project manager do next?

A.Ask the project sponsor for permission to update the project charter.

B.Allow team members to continue the work because the new functionality will improve the end
product.

C.Add the new functionality to tea requirements document.

D.Review the requirements and 1VBS tasks with team members to control possible scope creep,
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194. A project manager recently assigned to a project discovers that some team leaders
continually send performance reports to the vice president.What should the project manager do
next?
A.Advise the team leaders to send the current performance reports to the project manager.
B.Inform the team that the acceptance criteria are determined, and it is not necessary to send
the performance reports.
C.Consult the responsibility assignment matrix and communications management plan and revise
as necessary,
D.Organize a face-to-face meeting with the stakeholders to formally present the performance
reports.
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195. While preparing for a project, a project management considers how to deal with large
changes that may occur during project execution, the project manager should do which of the

following?
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A.Discuss all changes with the project sponsor as soon as they are requested.

B.Express in the project management plan that the large changes cannot be accommodated.
C.Ensure that a change control board is established to deal with such situations if they occur.

D. Inform the project team that all changes must be approved by the project manager.
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196. During project execution, the project manager identifies that the team °~ s conflicting
behavior caused some milestones to be missed. To avoid this situation, what should the project
manager have done?

A.Contacted all team members' functional supervisors and requested their intervention

B.Initiated a team meeting to reach consensus about behavioral ground rules

C.Sent a communication informing the team members of the expected behavior

D.Included soft skills training on problem-solving techniques in training plans
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197. A project manager assigned to a new project meets with the sponsor, senior management,
and experienced project managers to discuss possible project stakeholders. The project manager
then meets with these identified stakeholders and notes their level of authority in the company
and their level of concern regarding the project outcomes. What should the project manager do
next?

A.Update the project charter,

B.Create a stakeholder analysis.

C.Set up a power/interest grid.

D.Schedule a kick-off meeting.
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198. A project manager starts a project to build a new factory. The client states that if the project
baseline if modified, the project manager must go through several levels of approval. To record
the approval levels, the project manager should develop which of the following?

A.Change control procedure

B.Issue log

C.Stakeholder management plan

D.Stakeholder register
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199. A global project has teams in multiple locations that do not have visibility to the overall
project management plan, including milestone and project expectations. During the project, the
project manager realizes that this a mistake and all information should be shared with all project
teams regardless of location. What should the project manager have shared the information with
the project team?

A.During project team development

B.At the project initiation phase

C.During each statue review meeting

D.At the project kick-off meeting
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200. Due to market conditions, a company experiences staff changes which the project manager

believes will impact the project resources. To minimize the impact on the project, what should the
project manager do?

A.ldentity potential replacements.

B.Cross train the team members.

C.Report staff changes to the sponsor.

D.Address the issue at a team meeting.
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